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2000
A2 OH Y| 21,550 19,800 1,750
2400
FEI XS AR IR 21,550 19,800 1,750
]
2430
SADHE 21,550 19,800 1,750
2434
JIBEAIE 2t 21,550 19,800 1,750
100
S0 & 6,550 4,800 1,750
120
oA 6,550 4,800 1,750
201
2etEd 6,550 4,800 1,750
6,550 4,800 1,750 &2
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5000
XD EFE Y 2,378,450 2,380,200 21,750
5400
I 2,171,050 2,172,800 21,750
5410
IR 2,171,050 2,172,800 21,750
5411
ol 8l 2,171,050 2,172,800 A1,750
400
GRS 2,171,050 2,172,800 21,750
410
ol Bl Bl 2,171,050 2,172,800 21,750
801
ol Bl Bl 2,171,050 2,172,800 A1,750
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A (2,171,050,0009)-21& (2, 172,800,000 ) = A1,750
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i = | 3 Hi n
off A o &t 5 | =
.o NE AME = G & s A 3
Al = 2 Al 2,400,000 2,400,000 0
JIEHSEAHNMESA 160,583,988 138,120,989 22,462,999
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